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Functional Organisation of Human Body
1. The goal of physiology is to explain physical and chemical factors responsible for all aspects of human life except:
A. Origin
B.   Development
C.  Progression
D. Destruction
(p. 2)
2.  The red cell mass of human body is:
A.  10 trillion
B.   25 trillion
(p. 2)
С  50 trillion
D.  100 trillion
3.
The entire cell content of human body is:
A.   100 trillion
B.   200 trillion
С  500 trillion
D. 750 trillion
(p. 2)
4.
Who introduced the term milieu interieur:
A.
Claude Bernard
B.
Braxton Hick
C.
V. Apgar
D.
None of the above
(p. 2)
5.
Intracellular fluid is rich in all except:
A.  Sodium
B.   Potassium
C.  Magnesium
D. Phosphate
(p. 2)
6.
The major endocrine glands in body number:
A. 6
B.   8
С   10
D.  12
(p. 4)
7.
Baroreceptors are present in:
A. Aortic arch
B.   Brainstem
C.  Carotid bifurcation      D. All of the above
E.
A + С
(р. 5)
8.  Normal range of blood pH is:
A.  7-7.7
B.   7.1-7.6
 (p. 5)
С  7.3-7.5
D. 7.2-7.4
9.  Lethal level of blood pH is:
A.  <= 5 and >= 9
B.   <= 6 and >= 8.5
С  <= 6.9 and >= 8
D. <= 7.3 and > =7.5 (p. 5)
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10.
The gain of the system controlling body temperature
is about:
A. -2
B.  -20
C. -33
D. -45
(p. 6)
11.
Examples of useful positive feedback in the body
include all except:
A. Child birth
B.   Blood clotting
C.   Blood loss
D. Nerve signal      (p. 7)
10 С    11 С

Cell and its Function
1.
Water content of a cell excluding fat cells is:
A. 40-50%
B.   50-60%
С  70-85%
D. 80-90%
(p. 9)
2.
Globular proteins in a cell form:
A.
Cell wall
B.
Enzymes
C.
Nucleolus
D.
None of the above
(p. 9)
3.
Neutral fat refers to:
A.  Triglycerides
B.   Cholesterol
С  Phospholipids
D. All of the above (p. 9)
4.
Carbohydrate is maximum in:
A. Muscle cell
B.  Nerve cell
C.  Hepatocyte
D. Red blood cell   (p. 10)
5.
Cell's power house is:
A.
Mitochondria
B.
Golgi apparatus
C.
Lysosome
D.
None of the above
(p. 10)
6.
The approximate composition of cell wall protein
lipid is:
A. 50:50
B.   50:25
С  40:60
D. 20:80
(p. 10)
7.
The   principal   function   of  lipid  bilayer  of  cell
membrane is:
A.
Prevents penetration of micro-organism
B.
Prevents entry of micromolecules
C.
Prevents water penetration
D.
All of the above
(p. 10)
8.
The cell membrane is:
A.
Solid
B.
Fluid
С  Semisolid
(p. 11)
1С      2B       ЗА        4C        5A         6B         7C         8B
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9.  The electronegativity of cell wall is due to:
A.
Proteins
B.
Lipids
C.
Carbohydrates
D.
Cholesterol
(p. 12)
10.
Endoplasmic reticulum is concerned with synthesis
of:
A.
Lipids
B.
Protein
C.
Carbohydrate
D.
None of the above
(p. 12)
11.
The intracellular digestive system refers to:
A.
Golgi apparatus
B.
Mitochondria
C.
Lysosomes
D.
Endoplasmic reticulum
(p. 13)
12.
Maximum alcohol detoxification within cell is in:
A. Lysosomes
B.   Peroxisomes
C.  Microtubules
D. Mitochondria     (p. 13)
13.
Which of the following does not have a limiting
membrane:
A. Nucleus
B.   Nucleolus
C.  Golgi apparatus
D. Mitochondria     (p. 15)
14.
Substances enter the cell by way of:
A.  Diffusion
B.   Pinocytosis
C.  Active transport
D. All of the above (p. 16)
15.
What is clathrin:
A.
A complex carbohydrate
B.
A nitrogenous waste
C.
Fibrillar protein in cell wall
D.
Constituent of nucleolus
(p. 16)
16.   Lysosomes contain:
A.
Acid hydrolases
B.
Peroxidases
C.
Oxidases
D.
None of the above
(p. 17)

18.
The constituents of ATP are all except:
A. Adenine
B.   Ribose
C.  Ribulose
D. Phosphate
(p. 19)
19.
The common pathway for metabolism of carbo​
hydrate, fat and protein in mitochondria is:
A.  Acetyl COA
B.   Succinyl COA
C.  Lactic acid
D. Pyruvic acid       (p. 20)
20.
Uses of ATP in the body include:
A.
Membrane transport
B.
Synthesis of chemical compounds
C.
Mechanical work
D.
All of the above
(p. 20)
21.
Ciliary movement is seen in cells of all except:
A.  Nasal cavity
B.   GI tract
C.   Bronchial passage        D. Fallopian tubes (p. 22)
17.  The number of high energy bonds in a molecule of ATP is:
A.  1
B.   2
С 3
D. 4
(p. 19)
9 С 17 В
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Genetic Control
1.
Which of the following is not a component of DNA:
A.  Adenine
B.   Uracil
C.
Guanine
D. Cytosine
(p. 24)
2.
The genetic code CTT is responsible for placement
of:
A.
Proline
B.
Serine
С  Glutamic acid
D.
None of the above
(p. 26)
3.
Which of the following is not a component of RNA:
A.  Thymine
B.   Uracil
C.
Cytosine
D. Guanine
(p. 27)
4.
The enzyme responsible for RNA transcription is:
A.
Polymerase
B.
Ligase
C.
Reverse transcriptase
D.
None of the above
(p. 27)
5.
The three different types of RNA in a cell include:
A.
Messenger RNA
B.
Transfer RNA
С  Ribosomal RNA
D. All of the above
(p. 27)
6.
Ribosomal RNA is responsible for:
A.
Transport of activated amino acids
B.
Propagation of genetic code
C.
Assembly of protein molecule
D.
None of the above
(p. 28)

8.
The word operon is linked to:
A.
Structural genes
B.
Promoter genes
C.
Repressor genes
D.
All of the above
(p. 31)
9.
A human cell contains how many genes:
A.  100,00000
B.   100,0000
С  100,000
D. 100,00
(p. 30)
10.
The length of DNA helix in a chromosome is:
A. 6 meter
B.   6 cm
C.   6 mm
D. 6 u
(p. 33)
11.
Chromatids start separating from centromere in:
A.  Prophase
B.   Metaphase
C.  Anaphase
D. Telophase
(p. 34)
12.
Although the number of genes is 1 lac in a cell, most
mature human cells produce only:
A. 8000 protein
B.   80,000 protein
C.  800 protein
D. 80 protein
(p. 35)
7.  A nucleated cell is called:
A.
Prokaryocyte
B.
Eukaryocyte
C.
Keratinocyte
D.
None of the above

(p. 30)
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Molecule Transport
1.
Which of the following is highly soluble in lipids:
A.  Oxygen
B.   Nitrogen
C.
Carbon dioxide
D. Alcohol
E.   All of the above
(p. 41)
2.
Which  of  the  following  enters  the  cell  through
protein channels:
A.
Water
B.
Oxygen
С  Carbon dioxide
D.
None of the above
(p. 42)
3.
Which of the following protein channels is nega​
tively charged:
A.
Sodium channel
B.
Potassium channel
C.
Both of the above
D.
None of the above
(p. AT)
4.
Which form of gating is required for nerve signal
transmission:
A.
Voltage gating
B.
Chemical gating
C.
Both of the above
D.
None of the above
(p. 43)
5.
Carrier mediated diffusion occurs with:
A. Amino acids
B.   Glucose
С  Hormones
D. All of the above (p. 44)
6.
What is true of osmolality:
A.
One   osmole   is   1   gram   molecular   weight  of
undissociated solute
B.
One  osmole   is   1   gram  molecular  weight  of
dissociated solute
C.
Normal osmolality of intra and extracellular fluids
is 350 miliosmoles/kg
D.
All are true
(p. 46)

7.
For body fluids, the difference between osmolality
and osmolarity is around:
A.  10
B.   5
C.   2
D.  <1
(p. 46)
8.
Active transport is transport against:
A.
Concentration difference
B.
Pressure difference
C.
Electrical difference
D.
All of the above
(p. 47)
9.
Which of the following is true for Na+-K+ transport
pump:
A.
2 sodium ions are exchanged for 3 potassium ions
B.
3 sodium ions are exchanged for 2 potassium ions
C.
1 sodium ion is exchanged for 1 potassium ion
D.
All are false
(p. 47)
10.
Cell cytosol concentration of calcium is 10,000 times
lower than outside because it is pumped:
A.
Out into exterior of cell by active transport
B.
Into sarcoplasmic reticulum in muscle cell
C.
Into mitochondria
D.
All of the above
(p. 48)
11.
Primary active transport of hydrogen ion occurs in:
A.
Gastric parietal cells
B.
Renal distal tubules
C.
Renal proximal tubules
D.
A + С
E.
A + В
(р. 48)
12.
Glucose is cotransported into cell with:
A.  Sodium
B.   Potassium
С  Calcium
D. All of the above (p. 49)
13.
Examples of cotransport mechanisms include:
A.
Amino acid-sodium
B.
Sodium-potassium - 2 chloride
C.
Potassium-chloride
D.
All of the above
(p. 49)
14.
Counter transport mechanisms important in physio​
logy include:
A.
Sodium-calcium counter transport
B.
Sodium-hydrogen counter transport
C.
Calcium-magnesium counter transport
D.
Bicarbonate and chloride counter transport
E.
All of the above
(p. 49)
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Membrane Potential and Action Potential
1.
The resting
membrane potential of a large nerve
fiber is:
A.  -50 mV                              B.   -90 mV
С  90 mV
D. 60 mV                (p. 54)
2.
Nernst potential is calculated using formula:
A.
± 61 log cone inside/cone outside
B.
± 61 log cone outside/cone inside
C.
± 90 log cone inside/cone outside
D.
None of the above
(p. 52)
3.
The thickness of nerve cell membrane is about:
A. 5 nanometer                       B. 7 nanometer   

C. 5 (                                     D. 7(
4.
The sodium concentration within a nerve fiber is:
A.  50 mEq
B.   30 mEq
C.   14 mEq
D. 4 mEq
(p. 54)
5.
The K+ concentration within a nerve fiber is:
A.   160 mEq
B.   140 mEq
С   100 mEq
D. 60 mEq
(p. 54)
6.
Contribution   of   sodium-potassium   diffusion   to
resting membrane potential is:
A.  -50 mV
B.   -86 mV
С  -90 mV
D. -4 mV
(p. 55)
7.
Electrogenic Na+ K+  pump
contributes  to resting
membrane potential by:
A.  50 mV
B.
20 mV
С  7mV
D.
4 mV
(p. 55)
8.
Membrane  potential  in  small  muscle/nerve  fiber
is:
A.
-90 mV
B.
-40 to -60 mV
C.
-60 to -80 mV
D.
-80 to -90 mV
(p. 61)
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9.  The sodium channel closes and k+ channel opens when resting membrane potential reaches:
A.  5 mV
B.   25 mV
С  35 mV
D. 55 mV
(p. 57)
10.
Tetradotoxin blocks:
A.
Sodium channel
B.
Potassium channel
C.
Both of the above
D.
None of the above
(p. 58)
11.
The plateau of action potential is due to:
A.
Fast Na+ channel
B.
Slow calcium channel
C.
Potassium channel
D.
All of the above
(p. 61)
12.
The nerve conduction in myelinated nerve fibers is
called:
A.
Continuous
B.
Saltatory
C.
Interrupted
D.
None of the above
(p. 62)
13.
The ratio of action potential strength to excitability
threshold is called:
A.
Refractory period
B.
Safety factor
C.
Membrane stabilizing factor
D.
None of the above
(p. 64)
14.
A nerve  impulse  fails  to propagate when safety
factor is below:
A.  5
B.   3
С   1
D. 0.5
(p. 64)
1   В       2 A

3 В
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Contraction of Skeletal Muscles
1.  What is sarcolemma:
A.
A skeletal muscle fiber
B.
A smooth muscle fiber
С  Cell membrane of muscle fiber D. None of the above
(p. 67)
2.
The light I bands in electron photomicrograph of
muscle fiber correspond to:
A.
Actin filaments
B.
Myosin filaments
C.
Actin myosin cross bridge
D.
None of the above
(p. 67)
3.
Sarcomere   refers   to   that   portion   of   myofibril
between:
A.  A and H band
B.   Z and A band
C.   Z and Z band
D.  A and I band     (p. 67)
4.
Resting length of sarcomere is:
A.   1 mm
B.   1 ц
С  2 u
D, 5 ц
(р. 67)
5.
To initiate contraction of myofibril, the calcium is
made available from:
A.
Plasma
B.
Sarcoplasmic reticulum
C.
Sarcolemma
D.
None of the above
(p. 68)
6.
What is not true of myosin filament is:
A.
Myosin  molecule  composed  of 4  polypeptide
chains
B.
The heavy chains form a double helix
C.
A myosin filament contains 200 or more myosin
molecules
D.
Length of myosin filament is always 1.6u (p. 70)

7.
The actin filament is composed of:
A.   Actin
B.   Tropomycin
C.  Troponin
D. All of the above (p. 71)
8.
The troponin subunit with affinity for calcium is:
A.
Troponin 1
B.
Troponin T
C.
Troponin С
D.
None of the above
(p. 71)
9.
ATPase activity is located on:
A.
Myosin head
B.
Myosin tail
C.
Actin helix
D.
All of the above
(p. 71)
10.
Actin myosin interaction in resting stage is inhibited
by:
A.
Calcium ions
B.
Troponin
C.
Troponin-tropomyosin
D.
ATP
(p- 73)
11.
The   ATP   store   of   muscle   can   sustain   muscle
contraction up to:
A.   1 minute
B.   30 sec
С   10 sec
D. 2 sec
(p. 74)
12.
For muscle contraction the energy is provided by:
A.
Stored ATP
B.
Phosphocreatine
C.
Glycogen
D.
All of the above
(p. 74)
13.
Glycolysis alone can sustain muscle contraction for:
A.   1 hr
В.   1/2 hr
С   15 min
D.  1 min
(p. 74)
14.
The  chemical   energy  of  food  stuff  that  can  be
converted into work under best conditions is:
A.  100%
B.   50%
С  25%
D. 10%
(p. 74)
15.
What is isometric contraction:
A.
Muscle shortens with contraction
B.
Muscle does not shorten with contraction
C.
Muscle contracts tension remaining constant
D.
None of the above
(p. 75)
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16.
The physiological characteristic of fast muscle fibers
include all except:
A.
Larger in size for greater strength of contraction
B.
Extensive sarcoplasmic reticulum
C.
Large amount of glycolytic enzymes
D.
Plenty of mitochondria
(p. 75)
17.
The   physiological   characteristics   of   slow   fibers
include all except:
A.
Smaller in size
B.
Poor capillary density
C.
Large number of mitochondria
(p. 75)
D. Large amounts of myoglobin
18.
Motor unit refers to:
A.
Single muscle fiber with its motor endplates
B.
Group of muscle fibers innervated by single motor
neurone
C.
Group of nerve fibers innervating a muscle
D.
None of the above
(p. 76)
19.
What is not true of rigor mortis:
A.
Occurs after death
B.
Muscle is rigid and contracted
C.
Muscle action potential is high
D.
Depleted ATP store
(p. 78)

Contraction of Skeletal and Smooth Muscles
1.
Motor nerve terminals to skeletal muscle liberate:
A.
Acetylcholine
B.
Adrenaline
C.
Nor adrenaline
D.
All of the above
(p. 80)
2.
Characters  of acetylcheline  receptors include all
except:
A.
Molecular weight 2,75,000
B.
Contains 5 subunit proteins
C.
Acetylcholine channel opens when 2 alpha sub-
units bind to acetylcholine
D.
None of the above
(p. 81)
3.
Drugs that have acetylcholine like activity include:
A.  Nicotine
B.   Carbachol
С  Methacholine
D. All of the above (p. 83)
4.
Which of the following inactivates acetylcholine for
weeks:
A.
Neostigmine
B.
Physostigmine
C.
Di-isopropyl fluorophosphate
D.
None of the above
(p. 83)
5.
Which of the following is not a character of muscle
action potential:
A.
Resting membrane potential -80 to -90 mV
B.
Duration of action potential 1 to 5 ms
C.
Velocity of conduction 3 to 5 m/sec
D.
None of the above
(p. 84)
6.
What is not true of T tubules:
A.
Are internal extension of cell membrane
B.
Do not communicate to the exterior
C.
Surface membrane depolarisation causes depolari-
sation of T tubules
D.
Action potential in T tubules causes myofibril
contraction
(p. 85)
16 D    17 В     18 В

19 С
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7.
Calcium in muscle cell is stored in:
A.
T tubule
B.
Sarcoplasmic reticulum
C.
Terminal cysternae
(p. 85)
D.
All of the above
8.
What is function of calsequestrin:
A.
Calcium release
B.
Calcium storage
C.
Calcium chelater
D.
None of the above
(p. 85)
9.  Unitary smooth muscle refers to:
A.
Single muscle fiber
B.
Multiple muscle fibers contracting as a single unit
C.
Each muscle fiber contracting independently of
the   others
D.
None of the above
(p. 87)
10,
The examples of multiunit smooth muscles in the body include:
A.
Ciliary muscles
B.
Iris muscles
С   Piloerector
D. All of the above
(p. 87)
11.
Smooth  muscle   contraction   differs   from   that  of
skeletal muscle by:
A.
Slow cycling of actin myosin cross bridges
B.
Economy of energy for contraction
C.
Slowness of onset of contraction and relaxation
D.
Maximum force of contraction is very low (p. 88)
12.
Characteristic of smooth muscle is:
A.
Few myosin content
B.
Prolonged tonic contraction
C.
Ability to shorten for greater percentage of its
length
D.
All of the above
(p. 89)
13.
Smooth muscle does not contain:
A.
Actin
B.
Myosin
С  Troponin
D. Calmodulin
(p. 89)
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14.
Sequence of events in smooth muscle contraction
include:
A.
Calcium ion binds with calmodulin
B.
Calcium-calmodulin activates myosin kinase
C.
Myosin kinase phosphorylates regulatory chain
on myosin head
D.
All of the above
(p. 89)
15.
What is not true of smooth muscle action potential:
A.
Can be spike potential or potential with plateau
B.
Plenty of voltage gated sodium channels
C.
More dependent on voltage gated calcium chan​
nels than in smooth muscle
D.
Calcium channels open slowly and remain open
for longer period
(p. 91)
16.
Which of the following causes vasodilatation:
A.
Decreased pH
B.
Increased CO2
C.
Oxygen lack
D.
All of the above
(p. 93)
17.
For smooth muscle contraction the calcium comes
from:
A.
Sarcoplasmic reticulum
B.
Extracellular fluid
С   Both of the above
D. None of the above
(p. 93)
7 В      8B       9B       10 D       11 D
12 D

13 С

14  D    15 В     16 D      17 В
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The Heart
1.
What is cardiac muscle:
A.
A mass of independent muscle bundles
B.
A syncytium of muscle cells
С  Muscle cells separated by collagen bundles
D. None of the above
(p. 96)
2.
The depolarisation time in ventricular muscle is:
A.  0.2 sec
B.   0.3 sec
C.
0.4 sec
D. 0.5 sec
(p. 97)
3.
The depolarisation time in atrial muscle is:
A.  0.2 sec
B.   0.3 sec
С  0.5 sec
D. 0.7 sec
(p. 97)
4.
The  long plateau  of  cardiac  action  potential  is
related to:
A. Na+
B.
K+
С  Ca++
D.
Mg++                   (p. 97)
5.
The T tubules are rich in:
A. Sodium
B.
Potassium
C.  Calcium
D.
Magnesium        (p. 98)
6.
With rise in heart rate which phase is shortened
more:
A.
Contraction (systole)
B.
Relaxation (diastole)
C.
Both of the above
D.
None of the above
(p. 99)
7.
The contribution of atrial contraction to ventricular
filling in:
A.  100%
B.   75%
С  50%
D. 25%
(p. 100)
8.
The peak pressure of atrial contraction is:
A.
4-8 mmHg
B.
8-15 mmHg
С  15-20 mmHg
D. 20-25 mmHg
(p. 100)

9.  Blood ejected into pulmonary and systemic circula​
tion during rapid ejection period is:
A. 50%
B.   70%
С  90%
D. 100%
(p. 100)
10.
The pulmonary valve opens when right ventricular
pressure exceeds:
A.
8 mmHg
B.
15 mmHg
С  20 mmHg
D. 25 mmHg
(p. 100)
11.
The normal end-diastolic volume is:
A. 75 ml
B.   100 ml
C.
110-120 ml
D. 130-150 ml       (p. 101)
12.
The normal endsystolic volume is:
A.  40-50 ml
B.   50-60 ml
C.  60-70 ml
D. 75-85 ml
(p. 101)
13.
The maximally achievable systolic pressure by left
ventricle is:
A. 200 mmHg
B.   300 mmHg
С  400 mmHg
D. 500 mmHg       (p. 102)
14.
The end-diastolic pressure is around:
A.  10 mmHg
B.   8 mmHg
С  5 mmHg
D. 2 mmHg
(p. 102)
15.
The maximum efficiency of a normal heart is:
A.  75-80%
B.   50-60%
С  20-25%
D. 10-15%
(p. 103)
16.
What is true of Frank-Starling principle:
A.
Within limits, greater the stretch more is the force
of contraction
B.
Higher   the   stretch   less   is   the   velocity   of
contraction
C.
Without any limitation, increased stretch produces
better and more vigorous contraction
D.
All are false
(p. 104)
17.
The dp/dt is a measure of ventricular:
A.
Relaxation
B.
Contraction
C.
Automaticity
D.
None of the above
1   В      2 В

3 A

4 В

5 С

6 В

7 D
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18.
The location of sinus node is:
A.
Lateral wall of RA at the entry of IVC
B.
Superior lateral wall of RA at the entry of SVC
C.
Superior lateral wall of RA at the entry of IVC
D.
Just above the interatrial septum
(p. 107)
19.
The resting potential of sinus node fiber is
A. - 90 mm
B.   - 80 mm
(p. 107)
   C.  -60 mm                          D. - 40 mm
20.The  action  potential   changes   in   sinus   node   is dependent upon:
A.
Fast sodium channels
B.
Slow calcium-sodium channels
C.
Potassium channels
D.
All of the above
(p. 108)
21.  The velocity of conduction in atrial muscle is:
A.  1 m/sec
B.   0.5 m/sec
С  0.3 m/sec
D. 0.1 m/sec
(p. 109)
22.
The AV nodal delay is:
A. 0.09 sec
B.   0.05 sec
(p. 109)
С  0.02 sec
D. 0.01 sec
23.
The conduction velocity in AV node is:
A. 0.1 m/sec
B.   0.05 m/sec
C.  0.5 m/sec
(p. 109)
24.
The conduction time is Purkinje system is:
A.  1 sec
B.   0.5 sec
С  0.05 sec
D. 0.03 sec
(p. 110)
25.
The intrinsic rhythmicity rate of Purkinje fibers is:
A.
70-80/min
B.
40-60/min
С  15-40/min
D. None of the above
(p.111)
26.
The time lag for His-Purkinje automaticity to appear
after total A-V block is:
A. 1-2 min
B.  30-45 sec
С  5-20 sec
D. 1-3 sec            (p. 111)
27.
Vagal effect on AV node is mediated by:
A.
Na+ channel
B.
Calcium channel
C.
Potassium channel
D.  None of the above                               ( p.112)

18 B  19 C  20 D  21 C   22 A    23 B   24  D   

25 C   26 C  27 C

Electrocardiogram
1.
Match the following:
A.
Atrial depolarisation
1.   QRS.
B.
Ventricular depolarisation       2.   P wave
C.
Ventricular repolarisation        3.   T wave
(p. 114)
2.
Which of the following is not recorded in ECG:
A.
Atrial depolarisation
B.
Atrial repolarisation
C.
Ventricular repolarisation
D.
None of the above
(p- 115)
3.
Each small square in ECG paper represents:
A.   1 sec
B.   0.5 sec
С  0.04 sec
D. 0.02 sec
(p. 115)
4.
Each small square in ECG paper represents a voltage
of:
A.   1 mV
B.   0.1 mV
С  0.2 mV
D. 0.5 mV
(p. 115)
5.
Spot the wrong statement about lead connection in
standard ECG:
A.
Lead I-—Left arm and right arm
B.
Lead II—Left arm and left leg
С  Lead III—Left leg and left arm
D. Right leg potential is not recorded
(p. 117)
6.
Usual potential difference recorded in lead I is:
A.  5 mV
B.   0.5 mV
С  -2 mV
D. -1 mV
(p. 117)
7.
What is Einthoven's law:
B.
С
D.
A.  The sum of electrical voltage in two standard
leads is equivalent to third
The   difference   in   electrical   potential   in   two
standard leads is equal to the third
The   product   of   electrical   voltage   difference
between two leads is equal to third
None of the above
(p. 117)
1 A2, B1, C3   2B   3C  4 B   5 B  6 B   7A
'
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8.
Voltage augmentation in augmented unipolar limb
leads is maximum by:
A. 2 times
B.   4 times
С  5 times
D. 7 times
9.
Maximum voltage is recorded when:
A.
Vector direction is perpendicular to lead
B.
Vector direction is in same axis of the lead
C.
Vector direction in at 45° to the axis of lead
D.
None of the above
(p. 122)
10.
The Q wave is due to:
A.
Depolarisation of His Purkinje system
B.
Depolarisation of left side of septum before right
C.
Depolarisation of right side of septum before left
D.
None of the above
(p. 123)
11.
The dominant vector of repolarisation of heart is:
A.
Base to apex
B.
Apex to base
C.
Can be both ways
(p. 124)
12.
The mean electrical axis of normal ventricles is:
A. 75°
B.   59°
С  49°
D. 29°
(p. 125)
13.
The two leads used to know the QRS axis in ECG
are:
A.
I and II
B.
I and III
С
II and III
D.
None of the above
(p. 125)
14.
The range of QRS axis in a normal heart is:
A. + 90 to -10°
B.   + 100 to -20°
С  + 120 to -30°
D. + 130 to -30°   (p. 125)
15.
Decreased QRS voltage can be due to:
A.
Series of myocardial infarctions
B.
Pericardial effusion
C.
Pulmonary emphysema
D.
All of the above
(p. 127)
16.
Normal QRS duration is:
A.
0.1 to 0.12 sec
B.
0.08 to 0.12 sec
С  0.06 to 0.08 sec
      D. 0.02 to 0.04 sec                                   (p.128)
8 C   9 B   10 B  11A  12B  13 B  14 B  15 D  16 C
17.   Prolonged QRS duration occurs in:
A.
Ventricular dilatation
B.
Ventricular hypertrophy
С  Heart block
D. All of the above
(p. 128)
18.
At ']' point the electrical potential of heart is:
A.
Maximum
B.
Minimum
C.
Zero
D.
None of the above
(p. 129)
19.
The current of injury of heart arises due to:
A.
Mechanical trauma
B.
Infectious process
C.
Ischaemia
D.
All of the above
(p. 128)
20.
Current of injury causes shift of:
A.  QRS axis
В.   Р wave
С  ST segment
D. QRS
(p. 129)
21.
Old myocardial injury can present in ECG as:
A.
Q waves
B.
Decreased QRS voltage
C.
QRS prolongation
D.
All of the above
(p. 132)
22.
Earliest feature of digitalis overdose in ECG is:
A.
QRS prolongation
B.
Biphasic T waves
С  Rhythm disturbance
D. AV block
(p. 133)
23.
In acute anterior wall infarction the resultant vector
of current of injury is:
A.  + 90°
B.   + 150°
С  - 95°
D. - 110°
17 D    18 С     19 D      20 С      21 D        22 В        23 В
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Cardiac Arrhythmias
1.
Heart rate increases with rise in body temperature
but decreases once temperature exceeds:
A.  108°F
B.   107°F
С  105°F
D. 103°F
(p. 134)
2.
Carotid sinus stimulation causes:
A.  Bradycardia
B.   Hypotension
C.  Tachycardia
D. Only A + В       (p. 134)
3.
P-R interval is said to be prolonged when it exceeds:
A.  16 sec
B.   0.2 sec
С  0.25 sec
D. 0.3 sec
(p. 135)
4.
What is Stokes-Adams syndrome:
A.
Unconsciousness following head injury
B.
Unconsciousness following complete AV block
C.
Unconsciousness  following  ventricular  tachyar-
rhythmias
D.
None of the above
(p. 136)
5.
Unconsciousness results when cerebral circulation is
stopped exceeding:
A.  2-3 sec
B.   4-5 sec
С  10-15 sec
D. 15-20 sec
(p. 136)
6.
A premature ventricular contraction is characterised
by:
A.
WideQRS
B.
Inverted T wave
С  TallQRS
D. All of the above
(p. 137)
7.
Premature atrial contraction can be caused by:
A.
Alcohol
B.
Smoking
C.
Tea/coffee
D.
Drugs
E.
All of the above
(p. 137)

8.
Which of the following can terminate a paroxysmal
atrial tachycardia:
A.
Pressure on eyeball
B.
Carotid sinus massage
C.
Induced vomiting
D.
All of the above
(p. 138)
9.
Which of the following is a very serious condition:
A.
Paroxysmal atrial tachycardia
B.
Paroxysmal ventricular tachycardia
C.
Both of the above
D.
None of the above
(p. 138)
10.
Ventricular fibrillation occurs in presence of:
A.
Change in conduction velocity (decreased)
B.
Change in refractoriness (shortened)
C.
Cardiac dilatation
(p. 139)
D. All of the above
11.  Spot the wrong statement:
A.
Weak   alternating   current   causes   ventricular
fibrillation
B.
High voltage alternating current causes cardiac
stand still followed by normal beating
С High voltage direct current achieves same result as in 'B' even when applied for fraction of a second
D. All are true
(p. 139)
1С      2 D       3 В

4 В

5 В

6 D

7 E

8 D      9 В     10 D       11 D
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Circulation
1.
The volume of blood
in pulmonary circulation at
any given time is:
A. 20%                                     B.  9%
С  5%
D. 2%                     (p. 144)
2.
Veins are called capacitance vessels because they
contain:
A.
84% of blood volume
B.
64% of blood volume
C.
74% of blood volume
D.
54% of blood volume
(p. 144)
3.
The diffusion that
occurs during capillary blood
flow occurs within:
A.  10 to 15 sec                      B.   5 to 10 sec
С   1 to 3 sec
D.  <= 1 sec              (p. 145)
4.
The systolic pressure in pulmonary artery is:
A.  50 mmHg
B.   25 mmHg
C.   15 mmHg
D. 5 mmHg
(p. 145)
5.
Pulmonary capillary pressure averages:
A.  20 mmHg
B.   15 mmHg
С  7 mmHg
D. 3 mmHg
(p. 145)
6.
The functional pressure in most vascular bed is:
A. 30 mmHg
B.  25 mmHg
С  20 mmHg
D. 17 mmHg         (p. 145)
7.
1 mmHg pressure equals to:
A.
1.56 cm of water
B.
1.46 cm of water
C.
1.36 cm of water
D.
1.16 cm of water
(p. 148)
8.
When the pressure difference between two ends of
a vet ".el is I mmHg and the flow is 1 ml/sec, the
resistance is:
A.  1 PRU
B.   2 PRU
С  3 PRU
D. 4 PRU
(p. 149)

9.  Total peripheral resistance in pulmonary circulation
at rest is:
A.  1 PRU
B.   0.8 PRU
С  0.5 PRU
D. 0.14 PRU
(p. 149)
10.
According to Poiseuille's law blood flow within a
vessel is directly proportional to the:
A.
Square of radius of blood vessel
B.
Third power of radius of blood vessel
C.
Fourth power of radius of blood vessel
D.
None of the above
(p. 150)
11.
The viscosity of normal blood is:
A.
3 times that of water
B.
5 times that of water
C.
7 times that of water
D.
None of the above
(p. 151)
12.  Viscosity of plasma is:
A.
Same as that of water
B.
1.5 times that of water
C.
2 times that of water
D.
None of the above
{p. 151)
13.
The distensibility of vein in comparison to artery of
same diameter is:
A.  Twice
B.   4 times
С  6 times
D. 8 times
(p. 152)
14.
Compliance of a vein in comparison to an artery of
same size is:
A. 8 times
B.   16 times
C.  24 times
D. 40 times
(p. 152)
15.
Pulse pressure is:
A.
Systolic pressure - Diastolic pressure
B.
1/3 systolic pressure + Diastolic pressure
C.
1/2 systolic pressure + Diastolic pressure
D.
None of the above
(p. 154)
16.
The damping of pulsations in the periphery is due
to:
A.
Vascular resistance
B.
Compliance of vessel
C.
Both of the above
D.
None of the above
(p. 155)
1  В      2 В       З С

4 В

5 С

6 D

7 С

8 А

9 D    10 С     11 А      12 В      13 D

14 С

15 А

16 С
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17.
The mean arterial pressure is:
A.
Half of systolic pressure plus diastolic pressure
B.
50% of systolic pressure plus 60% of diastolic
pressure
C.
40% of systolic pressure plus 60% of diastolic
pressure
D.
None of the above
(p. 156)
18.
Normal right atrial pressure is:
A. 5 mmHg
B.   10 mmHg
С  15 mmHg
D. 0
(p. 157)
19.
The lower limit to right atrial pressure is:
A.
-10 mmHg
B.
-3 to -5 mmHg
С  3 to 5 mmHg
D. None of the above
(p. 157)
20.
The venous pressure in the leg of a walking adult is
around:
A.  90 mmHg-
B.   40 mmHg
С  25 mmHg
D. 5 mmHg
(p. 159)
21.
The vefcoes^yalves in perforating veins of calf allow
blood to flow from:
A.
Superficial to deep vein
B.
Deep to superficial vein
С  Either way
(p. 159)
22.
When all the neck veins are distended, the right
atrial pressure is likely to be in excess of:
A. 5 mmHg
B.   15 mmHg
С  25 mmHg
D. 35 mmHg         (p. 159)
23.
Pressure reference level for measuring venous and
other circulatory pressures is at:
A. Mitral valve
B.  Tricuspid valve
C.
Pulmonary valve         D. Aortic valve     (p. 159)
24.
Because of good reservoir system, healthy man can
tolerate safely acute blood loss of:
A. 20%
B.  40%
С  60%
D. 80%
(p. 160)
25.
In haemorrhage, spleen can contribute how much of
concentrated blood to circulation:
A. 50 ml
B.   75 ml
С  100 ml
D. 150 ml
(p. 160)
17 C  18 D  19 B  20 C  21 A  22 B  23 B  24 A  25 A
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Control of Blood Flow
1. The surface area of capillary bed is one eighth of a:
A. Tennis court
B.   Hockey ground
С  Football ground
D. Polo ground     (p. 162)
1. The precapillary sphincter is present in:
A.
Arteriole
B.
Meta arteriole
С  Venule
D. None of the above
(p- 162)
3. The blood flow in capillary bed is:
A.
Continuous
B.
Intermittent
С  Both of the above
(p. 163)
4. Which  of
the  following molecules has  smallest
diameter:
A. H2O                                  B.  Na+
С. Са++
D. Protein             (p. 164)
8. The interstitium is about:
A.  l/10thofbody
B.  l/6thofbody
С  l/4thofbody
D. 1/2 of body     (p. 165)
6.
The proteoglycan contains:
A.
98% protein
B.
98% hyaluronic acid
C.
50% protein and 50% hyaluronic acid
D.
None is true
(p. 165)
7.
Mean capillary pressure is around:
A.  10 mmHg
B.   15 mmHg
С  25 mmHg
D. 39 mmHg         (p. 166)
8.
Pressure in the intrapleural space is:
A. - 8 mmHg
B.  - 6 mmHg
С  - 4 mmHg
D. - 2 mmHg        (p. 168)
9.
Joint synovial fluid pressure is:
A.  10 mmHg
B.  5 mmHg
С - 5 mmHg
D. -10 mmHg       (p. 168)
1C  2 B  3 B  4 A   5 B  6 B  7 C  8 A   9 C
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10.
Plasma colloid osmotic pressure is due to:
A.  Sodium
B.   Chloride
С  Protein
D. Clotting factorsfp. 169)
11.
Normal plasma colloid osmotic pressure is:
A.  50 mmHg
B.   42 mmHg
С  28 mmHg
D. 21 mmHg         (p. 169)
12.
Albumin fraction in plasma contributes to osmotic
pressure to the extent of:
A. 50%
B.   80%
С  95%
D. 100%
(p. 169)
13.
The  quantity  of  interstitial  fluid  in  a  reference
individual is:
A.  20 litre
B.   12 litre
С  8 litre
D. 5 litre
(p. 169)
14.
The protein content of interstitial fluid is:
A.  7 gm/dl
B.   5 gm/dl
С  3 gm/dl
D. 1 gm/dl
(p. 169)
15.
Interstitial fluid colloid osmotic pressure is:
A.  25 mmHg
B.   15 mmHg
С  8 mmHg
D. 4 mmHg
(p. 169)
16.
Spot the wrong statement about forces tending more
fluid out from capillaries:
A.
Capillary pressure of 30 mmHg
B.
Negative   Interstitial   free   fluid   pressure   of  3
mmHg
C.
Interstitial  fluid  colloid  osmotic  pressure of 8
mmHg
D.
All are true
(p. 169)
17.
The net filtration pressure in capillary membrane is:
A. 25 mmHg
B.   18 mmHg
С   13 mmHg
D. 8 mmHg
(p. 169)
18.
The reabsorption pressure to venous end of capillary
is:
A.  20 mmHg С 9 mmHg
(p. 169)
B. "15 mmHg D. 7 mmHg
19.   Starling's mean capillary pressure is:
A.  17.3 mmHg
B.   15.8 mmHg
С   13.5 mmHg
D.  10.8 mmHg      (p. 170)

20.
The normal rate of net filtration in the body is:
A.  50 ml/min
B.   25 ml/min
С   10 ml/min
D. 2 ml/min
(p. 170)
21.
The principal function of lymphatics is to carry:
A.
Fluid
B.
Protein
С  Salt
D.  Blood corpuscles
(p. 170)
22.
The thoracic duct empties into:
A. Right atrium
B.   SVC
С  Left innominate
D. IVC
(p. 171)
23.
The total  quantity of lymph entering circulation
daily is:
A. 5 litre
B.  3 litre
С   1 litre
D.  1/2 litre
{p. Ill)
24.
Lymph    of    which    organ    has    highest    protein
concentration up to 6 gm/litre:
A.  Liver
B.   Intestine
С  Spleen
D. Leg
(p. 172)
25.
Lymph flow in thoracic duct is:
A.  150 ml/hr
B.   100 ml/hr
С  80 ml/hr
D. 50 ml/hr
(p. 171)
26.
Which of the following causes increased lymph
flow:
A.
Elevated capillary pressure
B.
Decrease in plasma proteins
C.
Increased capillary permeability
D.
All of the above
(p- 173)
27.
The lymphatic flow is aided by:
A.
Contraction by smooth muscle in vessel wall
B.
Contraction of surrounding muscles
C.
Arterial pulsation
D.
Movement of body parts
E.
All of the above
(p. 173)
28.
The net in outward force capillary bed is:
A.
0.3 mmHg
B.
0.8 mmHg
С  2.5 mmHg
D. 4.7 mmHg
10 С    11 С     12 В 18 D    19 A

13 В      14 С

15 С

16 D

17 С

20 D    21 В     22 С      23 В      24 А        25 В        26 D
28 А
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Nervous Regulation of Circulation
1.
Vasomotor center is located in:
A.
Midbrain
B.
Medulla
C.
Frontal cortex
D.
Hypothalamus
(p. 185)
2.
What is Hering's nerve:
A.
Transmit information from carotid sinus to glosso-
pharyngeal nerve
B.
Transmit information from aortic arch to medulla
C.
Transmit information from right atrium
D.
None of the above
(p. 188)
3.
Aortic    and    carotid    body   chemoreceptors    are
sensitive to:
A.  Oxygen lack
B.
CO2 excess
C.
Decreasing pH
(p. 191)
D.
All of the above
4.
Atrial stretch leads to:
A.
Secretion of atrial natriuretic peptide
B.
Reflex dilatation of afferent arteriole of kidney
C.
Both of the above
D.
None of the above
(p. 191)
5.
What is Brain bridge reflex:
A.
Rise in heart rate with atrial dilatation
B.
Slowing of heart rate with atrial dilatation
C.
Increase in BP with atrial dilatation
D.
Decrease in BP with atrial dilatation         (p. 191)
6.
Vasomotor   centre   control   of  blood   pressure   is
dependent upon:
A.
Carotid and aortic chemoreceptors
B.
Carotid and aortic stretch receptors
C.
Ischaemia of vasomotor centre itself
D.
All of the above
(p. 192)

7.
What is Cushing reaction:
A.
Excess of cortisol secretion in response to stress
B.
Rise in BP in cerebral edema
С  Rise in BP due to excess of cortisol
D, None of the above
(p- 192)
8.
At arterial pressure of 50 mmHg, urine output is:
A.
100 ml/hr
B.
50 ml/hr
С  25 ml/hr
D. Nil
(p. 195)
9.
What is not true of juxtaglomerular cells:
A.
Modified smooth muscle cells
B.
Located in glomerular afferent arteriole
С  Secrete renin in response to hypovolemia-hypo-
tension
D. All are true
(p- 201)
10.
The   time   required   for   renin-angiotensin   vaso​
constrictor response to act is:
A. Instantaneous
B.  10 minutes
С  20 minutes
D. 30 minutes       (p. 203)
11.
What is Goldblatt hypertension:
A.
Hypertension that occurred in Goldblatt
B.
Hypertension   in   response   to   renal   vascular
obstruction
C.
Hypertension occurring due to aldosterone excess
D.
None of the above
(p. 204)
12.
Characteristics of essential hypertension include all
except:
A.
Decreased renal blood flow
B.
Normal cardiac output
C.
Raised peripheral resistance
D.
Failure of kidneys to excrete salt and water
E.
None of the above
(p. 206)
13.
The resting normal cardiac output/min in men is:
A. 4 lit
B.  4.5 lit
С  5.6 lit
D. 6 lit
(p. 210)
14.
Normal cardiac index for adult is:
A.
3 lit/min/m2
B.
3.5 lit/min/m2
С  3.75 lit/min/m2
D. 4 lit/min/m2
 (p. 210)
1  В      2 A       3D

4 С

5 A

6 D

7 В      8D       9D      10С       11В

12 E

13 С        14 A
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15.
High cardiac output in response to reduced peri​
pheral resistance occurs in:
A.  Beri beri
B,   A-V fistula
C.  Anaemia
D. Hyperthyroidism
E.   All of the above
(p. 213)
16.
If O2 absorbed per/min by the lungs is 200 ml and
arteriovenous O2 difference is 40 ml, then using Fick
method, cardiac output/min is:
A. 4 lit
B.   5 lit
С  6 lit
D. 3.5 lit
(p. 221)
17.
Sudden decrease in blood volume by 20% increases
cardiac output:
A. Two fold
B.  Three fold
С  Four fold
D. Five fold
(p. 218)

Coronary Circulation
1.
During exercise blood flow of muscle is increased:
A. 3-5 fold
B.   7-10 fold
С  10-15 fold
D. 15-25 fold         (p. 223)
2.
In an athlete cardiac output increases by:
A. 3 fold
B.  5 fold
С  7 fold
D. 10 fold
(p. 223)
3.
Muscle contraction increases muscle blood flow by
which of the following:
A.
Adenosine
B.
Potassium ions
C.
Reduction O2 tension in muscle
D.
Lactic acid
E.
All of the above
(p. 224)
4.
Epinephrine causes:
A.
Increase in muscle blood flow
B.
Decrease in muscle blood flow
С  No change
(p. 224)
5.
The posterior part of left ventricle is supplied by:
A.
Left coronary artery
B.
Right coronary artery
C.
Mostly by right coronary artery
D.
Mostly by left coronary artery
(p. 226)
6.
The venous flow from left ventricle is by:
A.
Thebesian veins
B.
Coronary sinus
C.
Anterior cardiac veins                              (p. 226)
D. None of the above
7.  Resting coronary blood flow is:
A.
225 ml/min
B.
325 ml/min
С 425 ml/min
D.  125 ml/min
(p. 226)
15 E    16 В    17 В

1  D      2 С       3 E

4 A

5 С

6 В

7 A
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8.
During systole which layer of myocardium becomes
more anoxic:
A.
Subepicardium
B.
Middle layer
C.
Subendocardium
D.
All layers become equally anoxic
(p. 227)
9.
At  resting  conditions,  cardiac  energy  is  mainly
derived from:
A.
Carbohydrates
B.
Fatty acids
С  Proteins
D. None of the above
(p. 228)
10.
The  common site of atherosclerosis in coronary
vessels is in:
A.
Epicardial
B.
Intramyocardial
С Subendocardial
(p. 229}
11.
The   common   cause   of   coronary   occlusion   in
atherosclerosis is:
A. Spasm
B.   Embolus
C.
Thrombus
D. Combination of all
(p. 229)
12.
Fibrillation of heart after myocardial infarction is
due to:
A.
Rapid depletion of K+
B.
Formation of injury current
C.
Exaggerated sympathetic reflexes
D.
All of the above
(p. 231)
13.
Extraction of O2 by coronary musculature at resting
state is:
A.  20%
B.   40%
С  70%
D. 90%
14.
Cardiac pain is related to release of which of the
following:
A. Histamine
B.  Kinins
С  Lactic acid
D. All of the above (p. 232}
15.
Cardiac shock with 85% mortality occurs when LV
infarction exceeds:
A. 40 percent
B.   60 percent
С  75 percent
D. 85 percent        (p. 231)
8 С      9 В     10 A      11 С      12 D        13 С        14 D        15 A
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Cardiac Failure
1.
Which of the following happens in cardiac failure:
A.
Cardiac output decreases
B.
Right atrial pressure increases
С  Circulation time delayed
D. All of the above
(p. 235)
2.
Compensatory mechanisms in heart failure include:
A.
Tachycardia
B.
Cardiac dilatation
C.
Fluid retention
D.
All of the above
(p. 235)
3.
The cold skin, tachycardia and pallor in heart failure
are due to:
—
A.
Increased salt retention
B.
Increased water retention
С  Increased sympathetic activity
D. All of the above
(p. 236)
4.
High output heart failure occurs in:
A.
Beri beri
B.
А V fistula
C.
Thyrotoxicosis
D.
All of the above
5.
Peripheral vasodilatation is a feature of:
A.
Compensated heart failure
B.
Decompensated heart failure
C.
Both of the above
D.
None of the above
(p. 238)
6.
Cardiac reserve is decreased in:
A.
Athlete
B.
Child
С  Adult
D. Old
(p. 241)
5 В
6 D
1  D      2 D       3 С    4 D
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Heart Sounds
1.
The 'lub' on cardiac auscultation coincides with:
A.
Closure of semilunar valve
B.
Closure of A-V valve
C.
Both of the above
D.
Closure of glottis
(p- 245)
2.
The mechanism of heart sound is:
A.
Vibration of taut valves
B.
Vibration of adjacent blood
C.
Vibration of adjacent heart wall
D.
All of the above
(p- 245)
3.
What is true of duration of heart sounds:
A.
First heart sound is of longer duration than second
B.
Second heart sound is of longer duration than first
С  Both heart sounds are of equal duration (p. 245)
4.
The fourth heart sound originates from:
A.
Ventricle
B.
Atria
C.
Moderator band
D.
None of the above
(p- 246)
5.
Most valvular diseases of heart are due to:
A. Trauma
B.   Viral infection
С Rheumatic fever
D. Atherosclerosis
E.
Congenital
(p- 247)
6.
The murmur across a stenosed valve is due to:
A.
Vigorous cardiac contraction
B.
Turbulence
C.
Vibration of myocardium
D.
All of the above
(p- 247)
7.
What is a thrill:
A.
Palpable heart sound
B.
Palpable murmur
C.
Palpable breath sound
D.
Any of the above
(p. 247)

8.
When the mitral diastolic murmur occupies most of
diastole, then mitral stenosis is:
A. Mild
B.   Moderate
С Severe
D. No significance (p. 248)
9.
What happens to Stroke volume in aortic regurgita-
tion:
A.
Increased
B.
Decreased
С Unchanged
(p. 248)
10.
In aortic regurgitation, coronary blood flow is:
A.
Increased
B.
Reduced
C.
Unchanged
11.
In tetralogy of Fallot the shunt is:
A.
Right side of heart to left side of heart
B.
Left side of heart to right side of heart
С  Both ways
(p. 251)
12.
In patent ductus arteriosus the shunt is:
A.
From left to right
B.
From right to left
С  Bidirectional
(p. 249)
13.
In Fallot tetralogy, right ventricle is as thick as left
ventricle because:
A.
Pumps against systemic resistance across VSD
B.
Pumps   against   stenosed   pulmonary   valve/
infundibulum
С  Pumps directly into aorta due to overriding
D.
All of the above
(p. 251)
14.
In a young child with patent ductus, what part of
cardiac output may pass into lungs across the ductus:
A.
10-20%
B.
20-30%
С  50-70%
D. 100%
(p. 250)
15.
What is true about longevity in uncorrected PDA:
A.
Survival is not affected
B.
Death during first decade
C.
Death during adolescence
D.
Death during 3rd or 4th decade
(p. 250)
1   В      2 D

3 A

4 В
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16.
Excess    of    cardiac    hypertrophy    is    detrimental
because:
A.
Coronary vasculature does not increase to the
same extent
B.
Some amount of fibrosis is usual
C.
Relative ischaemia of hypertrophic muscle
D.
All of the above
(p. 252)
17.
Machinery murmur is characteristic of:
A.
Patent ductus arteriosus
B.
Tetralogy of Fallot
C.
Mitral regurgitation
D.
Aortic regurgitation
(p. 250)
18.
Atrial fibrillation commonly complicates;
A.
Mitral stenosis
B.
Mitral regurgitation
C.
Aortic stenosis
D.
Aortic regurgitation
(p. 249)

Shock
1.
In the definition of shock, the inadequacy of blood
supply to the metabolizing tissue is:
A.
Absolutely low
B.
Relatively low
С  Either of the above
D. None of the above
(p. 253)
2.
In septic shock, the cardiac output is:
A.
Normal
B.
Decreased
C.
Very much decreased
(p. 253)
3.
Low venous return causing shock is due to:
A.
Diminished blood volume
B.
Decreased vascular tone
С
Obstruction to SVC/IVC
D.
All of the above
(p. 253)
4.
In hemorrhagic shock, which occurs first:
A.
Reduced cardiac output
(p.. 254) after blood loss
B.
Low blood pressure
C.  Both occur simultaneously
5.
The  sympathetic  reflex  activity
basically aims at maintaining:
A. Cardiac output
B.   Blood pressure
C.  Renal perfusion
D. None of the above
6.
Cardiac and cerebral perfusion is reduced, when
systolic BP falls below:
A.  100 mmHg
B.   80 mmHg
C.  70 mmHg
D. 50 mmHg        (p. 255)
7.
In compensated shock, which of the following plays
positive role:
A.
Baroreceptor reflex
B.
CNS ischaemic response
C.
Renin-angiotensin system
D.
Secretion of ADH
E.
All of the above
(p. 255)
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8.What happens to capillary bed in shock:
A.
Constriction in early compensated shock
B.
Dilatation in decompensated shock
C.
Increased permeability in end stage of shock
D.
All of the above
(p. 257)
9.What happens to pH in shock:
A.
Acidosis
B.
Alkalosis
C.
No change
(p. 258)
10.In irreversible shock ATP is broken down to:
A.  Lactic acid
B.   Uric acid
C.  Pyruvic acid
D. Creatine
(p. 259)
11.
Extreme pain causes shock by:
A.
Direct depression of cardiac contractility
B.
Inhibition of vasomotor center
C.
Inhibition of renal sodium and water absorption
D.
Inhibition of cardiac conduction
(p. 259)
12.
In vasovagal syncope, the cardiac output falls due to
all except:
A.
Vasomotor failure
B.
Slowing of heart
C.
Dilatation of blood vessels
D.
None of the above
13.
Which   of  the  following  occurs  in  anaphylactic
shock:
A.
Venous dilatation
B.
Arteriolar dilatation
C.
Increased capillary permeability
D.
All of the above
(p. 260)

16.
The beneficial role of glucocorticoids in shock is:
A.
Stimulate cardiac contraction
B.
Stabilize lysosomal membrane
С  Increase glucose metabolism
D. All of the above
(p. 261)
17.
Death occurring 8-10 days after successful reversal
of shock is due to:
A.
Endotoxin
B.
Myocardial infarction
С  Tubular necrosis
D. Medullary infarction
14.  Special features of septic shock include:
A.
Warm skin
B.
High cardiac output
C.
Bounding pulse
D.
All of the above

(p. 260)
15. Sympathomimetic  drugs  are  valuable  in all  the following forms of shock except:
A.
Septic shock
B.
Anaphylactic shock
C.
Cardiogenic shock
D.
Haemorrhagic shock
(p. 261)
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Kidneys and Body Fluids
1.
Metabolic water daily added to circulation is:
A.  500 ml
B.   700 ml
С  200 ml
D. 100 ml
(p. 264)
2.
Insensible daily water loss from body is:
A.  1500 ml
B.   1000 ml
С  700 ml
D. 400 ml
(p. 264)
3.
In cold weather, one has dry cough because:
A.
Inspired air has high moisture
B.
Increased    fluid    evaporation   from   bronchial
mucosa
С  Both of the above
D. None of the above
(p. 264)
4.
The smallest fluid compartment of body is:
A.  Intracellular
B.   Transcellular
С   Extracellular
D. Interstitial         (p. 265)
5.
In an adult, the contribution of water to body weight
is:
A.  50%
B.   60%
С  70%
D. 75%
(p. 265)
6.
In normal men, the measured haematocrit is:
A. 0.6
B.   0.5
С  0.4
D. 0.3
(p. 266)
7.
What is Donnan effect:
A.
Negatively   charged   plasma   proteins   hold   up
sodium
B.
Positively   charged   plasma   proteins   hold   up
chloride
C.
Negative     charged     plasma     proteins     bind
bicarbonate
D.
None of the above
(p. 266)
8.
Which of the following is not a cation:
A.  Sodium
B.   Potassium
С  Protein
D. Calcium
(p. 267)

9.  The osmotic pressure solely of plasma proteins is:
A. 30 mmHg
B.   28 mmHg
С   1.9 mmHg
D. 12 mmHg         (p. 267)
10.
The corrected osmolarity of intracellular fluid is:
A.  310 mOsm/lit
B.   300 mOsm/lit
С  281 mOsm/lit
D. 251 mOsm/lit (p. 267)
11.
Total body water can be measured by:
A.
Tritium
B.
Deuterium
C.
Antipyrine
D.
All of the above
(p. 268)
12.
If plasma volume is 3 litre and haematocrit is 0.4,
then total blood volume is:
A. 4 litre
B. 5 litre
С 5.5 litre
D. 4.5 litre     (p. 269)
13. One osmole is equivalent to:
A. 6.02 x 1023
B.   6.2 x 1023
(p. 269)
С  6.02 x 1021
D. 6.01 x 1022
14.
Uncorrected osmolarity of normal saline is:
A.  281 mOsm/lit
B.   300 mOsm/lit
С  308 mOsm/lit
D. 318 mOsm/lit (p. 269)
15.
Vant Hoff's law relates to measure of:
A.
Partial pressure of gases
B.
Osmolal concentration
C.
Osmotic coefficient
D.
None of the above
(p. 270)
16.
What happens to a cell if suspended in hypertonic
solution:
A.
Swells up
B.
Shrinks
С  No change
(p. 271)
17.
The glucose concentration isotonic to plasma is:
A. 5%
B.   7.5%
С  10%
D. 25%
(p. 271)
18.
Lymphatic oedema occurs due to:
A.
Cancer
B.
Filariasis
C.
Congenital absence of lymph channels
D.
All of the above
(p. 275)
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19.
Nutritional oedema refers to oedema due to:
A.
Cirrhosis
B.
Nephrosis
С  Malnutrition
D. Congestive cardiac failure
(p. 275)
20.
The normal interstitial fluid hydrostatic pressure is:
A. - 5 mmHg
B.  - 3 mmHg
С  2 mmHg
D. 5 mmHg
(p. 276)
21.
Safety factors that normally prevent oedema forma​
tion include:
A.
Low compliance of interstitium
B.
Vast ability of lymph drainage
C.
Wash down of interstitial fluid protein concentra​
tion
D.
All of the above                                    (p. 276) .
22.
The total safety factor against oedema is:
A. 7 mmHg
B.   17 mmHg
С 27 mmHg
D. 37 mmHg        (p. 277)
23.
Oedema fluid in potential spaces is called:
A.   Infusion
B.   Effusion
С  Suffusion
D. Diffusion
(p. 278)
19 С    20 В     21 D      22 В      23 В

GFR and Urine Formation
1.
Recognized functions of kidneys include all except:
A.
Regulation of acid base balance
B.
Regulation of water and electrolyte balance
C.
Secretion of hormones
D.
Inactivation of hormones
(p. 279)
2.
Gluconeogenesis occurs in:
A.
Liver
B.
Kidney
C.
Both of the above
D.
None of the above
(p. 280)
3.
Hormones secreted by kidney include:
A.
Renin
B.
Erythropoietin
С  VitD
D. All of the above
(p. 280)
4.
In renal failure which of the following accumulate
in body:
A.
Potassium
B.
Fluid
C.
Acid anions
D.
All of the above
(p. 280)
5.
Each kidney contains how many nephrons:
A.  10,00000
B.   1,00,000
С  10,000
D. 1000
(p. 281)
6.
The thick segment of loop of Henle refers to:
A.
Descending limb
B.
Lower end of ascending limb
C.
Upper end of ascending limb
D.
All of the above
(p. 282)
7.
Macula densa is located in:
A.
Proximal tubule
B.
Distal tubule
C.
Ascending loop of Henle
D.
Collecting duct
(p. 282)
1D      2C       3D4D        5A
6C
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8.
The   substances   poorly   reabsorbed   in   nephron
include:
A.
Creatinine
B.
Urea
C.
Uric acid
D.
All of the above
(p. 284)
9.
Tubular secretion is essential for:
A.
Potassium
B.
Hydrogen ion
С  Drugs
D. All of the above
(p- 284)
10.
Daily glomeralar filtration is:
A.  100 litre
B.   150 litre
С  180 litre
D. 200 litre
(p. 284)
11.
Filtration in glomerulus occurs through:
A.
Endothelium
B.
Basement membrane
С  Epithelial cells
D. All of the above
(p- 284)
12.
Protein is not filtered in glomeruli because of:
A.
Proteoglycan   of  basement  membrane   repulses
proteins
B.
Proteins have high molecular weight
С  Proteins are positively charged
D.
All of the above
E.
A + В
(р. 285)
13.
In minimal change nephropathy, albumin is filtered
into because:
A.
Pore size or fenestrae become large
B.
Basement membrane is positively charged
С  Albumin becomes positively charged
D. Podocytes are lost
if. 286)
14.
The net filtration pressure in kidneys is:
A. 60 mmHg
B.  50 mmHg
С  10 mmHg
D. 22 mmHg         (p. 287)
15.
Bowman capsule hydrostatic pressure is:
A.
20 mmHg
B.
18 mmHg
С  15 mmHg
D. 10 mmHg
(p. 287)
8 D      9 D     10 С      11 D      12 E        13 В        14 С        15 В
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16.
GFR is increased by all except:
A.  Nitric oxide
B.   Endothelin
C.  Prostacycline
D. Bradykinin       (p. 287)
17.
Juxtaglomeralar cells are located in:
A.
Afferrent osteriole
B.
Efferent arteriole
C.
Glomerular tuft
D.
None of the above
(p. 291)
18.
The macula densa cells sense:
A.
Volume depletion
B.
Sodium depletion
C.
Potassium depletion
D.
All of the above
(p. 291)
19.
Functions of macula densa include:
A.
Decreased resistance in afferent arteriole
B.
Increased resistance in efferent arteriole
C.
Increased peripheral resistance
D.
All of the above
(p. 291)
20.
Angiotensin converting enzyme inhibitors reduce
GFR because they:
A.
Constrict afferent arteriole
B.
Constrict efferent arteriole
C.
Dilate efferent arteriole
D.
Dilate afferent arteriole
(p. 292)
21.
In early stages of diabetes mellitus GFR is:
A.
Low
B.
High
С Normal
(p. 293)
22.
GFR is relatively constant between pressure range
of:
A.
80-120 mmHg
B.
90-140 mmHg
С  80-170 mmHg
D. 90-190 mmHg
(p. 289)
16 В    17 A     18 В      19 D      20 С        21 В        22 С
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Urine Formation
1.
Which    of    the    following    substances    is    fully
reabsorbed in proximal tubule:
A.  Bicarbonate
B.   Chloride
С  Glucose
D. Urea
(p. 296)
2.
Amount of creatinine reabsorbed in tubules after
nitration is:
A. 2 mg
B.   1 mg
С  0.5 mg
D. Zero
(p. 296)
3.
The primary active transporters in renal substance
include:
A.
Sodium-potassium ATPase
B.
Hydrogen-potassium ATPase
C.
Calcium ATPase, hydrogen ATPase
D.
All of the above
(p. 296)
4.
Sodium potassium ATPase helps in:
A.
Absorption of Na+
B.
Excretion of Na+
С  Absorption of K+
D.
Excretion of K+ plus absorption of sodium
(p. 296)
5.
Sodium active transport helps in cotransport of:
A. Amino acid
B.   Glucose
C.
Potassium
D. All of the above
E.
A+B
(p. 297)
6.
Counter transport mechanism helps in secretion of:
A.
H+_
B.
Cl
C.
Bicarbonate
D.
All of the above
(p. 298)
7.
Glucose appears in urine when the filtered load of
it or transport maximum exceeds:
A.  1 g/min
B.   500 mg/min
С  320 mg/min
D. 180 mg/min     (p. 299)

8.
Transport maximum for plasma protein is:
A. 30 mg/min
B.   50 mg/min
С 80 mg/min
D. 100 mg/min    (p. 299)
9.
Which of the  following is not reabsorbed after
filtration:
A.
Bicarbonate
B.
Urea
С Creatinine
D. All of the above
(p. 296)
10.
The part of the nephron highly permeable to water
is:
A.
Proximal tubule
B.
Distal tubule
C.
Collecting ducts
D.
None of the above
(p- 300)
11.
1-sodium 2 chloride 1 potassium cotransporter is
active in:
A.
Proximal tubule
B.
Descending loop of Henle
C.
Thin ascending loop
D.
Thick ascending loop
(p- 302)
12.
All of the following are reabsorbed in distal tubule
except:
A. Na+
B.  K+
С Cl
D. Urea
(p. 303)
13.
The intercalated cells in distal tubule secrete into
lumen:
(p. 304)
A. H+
B.  K+
D. Cl
С  HCO,
14.Vasopressin (ADH) acts on:
A.
Proximal tubule
(p. 304)
B.
Ascending limb
С Distal tubule
D. Descending limb
15.  What is true of medullary collecting ducts:
A.
Act only as conduit for passage of urine
B.
Helps in reabsorption of urea
С  Can secrete hydrogen ion
(p. 304)
D.
None of the above
E.
В + С
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16.
The net reabsorption force in renal interstitium is:
A.   10 mmHg
B.   5 mmHg
C.  3 mmHg
D. 1 mmHg
(p. 306)
17.
Which of the following is function of aldosterone:
A.
NaCl absorption
B.
K+ secretion
C.
Н2О absorption
D.
All of the above
(p. 308)
18.
Aldosterone acts on:
A.
Proximal tubule
B.
Cortical collecting tubule
C.
Loop of Henle
D.
All of the above
(p. 308)
19.
The widely used test for estimating GFR is:
A.
Inulin clearance
B.
Creatinine clearance
C.
РАН clearance
D.
Radioactive iothalamate
(p. 311)
20.
Which of the following agents is ideal for estimating
GFR:
A.
Inulin
B.
Creatinine
C.
РАН
D.
None of the above
(p. 310)
21.
Creatinine clearance per minute is:
A.  100 ml
B.   125 ml
С  140 ml
D. 160 ml
(p. 312)

Extracellular Fluid
1.
When there is water intoxication kidneys can excrete
urine with osmolarity as low as:
A.  10 mOsm/lit
B.   50 mOsm/lit
С  75 mOsm/lit
D. 100 mOsm/lit   (p. 313)
2.
In   conditions   of   water   deprivation,   the   urine
osmolarity can increase up to:
A.
3000 mOsm/lit
B.
2000 mOsm/lit
С  1400 mOsm/lit
D. 1000 mOsm/lit
(p. 313)
3.
Excretion of dilute or concentrated urine is mainly
dependent upon:
A.
ADH
B.
Renin
С  Sodium concentration
D. H+ ion concentration
(p- 314)
4.
Osmolarity of urine in loop of Henle in medulla is:
A.
300 mOsm/lit
B.
450 mOsm/lit
С  600 mOsm/lit
D. 800 mOsm/lit
(p. 315)
5.
Daily solute excretion in a 70 kg adult is about:
A. 800 mOsm
B.   600 mOsm
С  400 mOsm
D. 200 mOsm       (p. 315)
6.
3%  sodium  chloride
solution  has  osmolarity  of
about:
A. 300 mOsm                        B.   7000 mOsm
С  1500 mOsm
D. 2000 mOsm     (p. 315)
7.
If one drinks 1 litre of sea water, to get rid of the
solute load he must urinate:
A.
2 litres
B.
2.5 litres
С  3 litres
D. 4 litres
(p. 315)
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8.
The osmolarity of interstitial fluid in medulla is:
A. 300 mOsm/lit
B.   700 mOsm/lit
С  1200 mOsm/lit
D. 1700 mOsm/lit (p. 316)
9.
The counter current multiplier system that makes
renal medulla hyperosmolar is largely dependent
upon NaCl absorption in:
A.
Thin descending limb
B.
Thin ascending limb
C.
Thick ascending limb
D.
All of the above                                   (p. 316)
10.
The water permeability is maximum in:
A.
Thin descending limb
B.
Thin ascending limb
C.
Thick ascending limb
D.
Distal tubule
(p. 316)
11.  The high osmolarity of interstitium is crucial to concentration of urine. This is possible because of:
A.
Maximum water absorption to renal cortex which
is rapidly removed by vasarecta
B.
High urea absorption from collecting ducts into
interstitium and its recirculation via thin loop of
Henle
C.
Counter current multiplier system
D.
All of the above
(p. 318)
12.
What is true of function of vasarecta in hyperosmo-larity of medullary interstitium:
A.
Contribute or create formation of hyperosmolarity
B.
Help to maintain hyperosmolarity
C.
Both of the above
D.
None of the above
(p. 319)
13
In nephrogenic diabetes insipidus:
A.
Urine volume is large
B.
Urine osmolarity is low
C.
Plasma ADH is high or normal
D.
All of the above
(p. 322)
14. The formula used to calculate plasma osmolarity from plasma Na+ is:
A.
2.1 x plasma Na+
B.
1.2 x plasma Na+
С  3.2 x plasma Na+
D. 2.3 x plasma Na+
(p. 322)

15.  ADH is synthesized in:
A.
Hypothalamus
B.
Posterior pituitary
C.
Anterior pituitary
D.
None of the above
(p. 323)
16.
The osmoreceptors that stimulate ADH release are
located in:
A.
Midbrain
B.
Anterior hypothalamus
C.
Posterior hypothalamus
D.
None of the above
(p. 323)
17.
ADH secretion is stimulated by:
A.
Plasma hyperosmolarity
B.
Decreased BP
С  Decreased blood volume
D. All of the above
(p. 324)
18.
All of the following drugs decrease ADH production
except:
A. Alcohol
B.   Nicotine
С  Clonidine
D. Haloperidol      (p. 325)
19.   The   threshold   for   drinking   is   (change   in  Na+
       concentration):
A.  10 mEq/lit
B.   7 mEq/lit
С 5 mEq/lit
D. 2 mEq/lit         (p. 326)
20.
The most powerful feedback system for controlling
extracellular fluid osmolarity and sodium concentra​
tion is:
A.
ADH and thirst
B.
Salt-appetite
C.
Angiotensin-renin
D.
Counter current exchange system
(p. 327)
21.
The barest minimum daily salt intake compatible
with normal activity is:
A.  100-200 mEq
B.   50-100 mEq
С  10-20 mEq
D. 5-10 mEq
(p. 327)
22.
In   a   normal   person   what   happens   to   sodium
excretion if there is rise in blood pressure:
A.
Increased
B.
Decreased
С   Unchanged
(p. 330)
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23.
Which of the following accounts for accumulation of
fluid in interstitial space:
A.
Increased capillary pressure
B.
Decreased plasma colloid osmotic pressure
C.
Increased capillary permeability
D.
All of the above
(p. 332)
24.
Increased renal sympathetic activity causes which of
the following:
A.
Decreased GFR
B.
Increased tubular reabsorption salt and water
C.
Stimulation of renin-aldosterone axis
D.
All of the above
(p. 333)
25.
High levels of ADH causes all except:
A.
Dilutional hyponatraemia
B.
Concentrated urine
C.
Rise in blood pressure
D.
None of the above
(p. 334)
26.
In nephrotic syndrome the plasma volume is:
A.
Increased
B.
Contracted
С  Unchanged
(p. 336)
27.
The mean plasma potassium concentration is:
A. 3.5 mEq/lit
B.   4.2 mEq/lit
С  4.5 mEq/lit
D. 5 mEq/lit         (p. 336)
28.
Which part of nephron is essential for maintaining
plasma potassium homeostasis:
A.
Proximal tubule
B.
Distal tubule
С  Collecting tubules
D. All of the above
(p. 337)
29.
Potassium secretion is mainly by:
A.
Intercalated cells
B.
Principal cells
C.
Both of the above
D.
None of the above
(p. 339)
30.
Potassium secretion is controlled by:
A.
Na+K+ ATPase pump
B.
Electrochemical gradient between tubular lumen
and blood
C.
Permeability of luminal membrane to K+
D.
All of the above
(p. 339)

31.
Potassium excretion is increased in all except:
A. Hyperkalaemia
B.   Raised aldosterone
С  Acute acidosis
D. Increased GFR (p. 342)
32.
Hypocalcaemic tetany is aggravated in presence of:
A.
Alkalosis
B.
Acidosis
С  Both of the above
(p. 342)
33.
Normal dietary calcium absorption is:
A.  100%
B.   50%
С 25%
D. 10%
(p. 342)
34.
Normal dietary potassium absorption is:
A.  100%
B.   90%
С  50%
D. 25%
(p. 337)
35.
PTH  regulates   plasma  concentration  of  calcium
through:
A.
Stimulates bone resorption
B.
Stimulation of renal hydroxylation of vit D
С  Direct   stimulation   of   renal   tubular   calcium
reabsorption
D. All of the above
(p. 343)
36.
Normal plasma Mg++ concentration is:
A.  5 mEq/L
B.   3 mEq/L
С  1.8 mEq/L
D. 0.8 mEq/L       (p. 344)
37.
Renal calcium excretion is decreased in all except:
A.
Metabolic acidosis
B.
Increased plasma phosphate
С  Decreased PTH
D. Decreased blood pressure
(p. 344)
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Acid Base Balance
1.
What is a base:
A.
That reacts with acids to form salt
B.
That can accept hydrogen ion
C.
That can give away H+ Ion
D.
None of the above
(p. 346)
2.
What is HPO":
A.
Acid
B.
Base
С Neutral
(p. 346)
3.
Hydrogen ion concentration of plasma is:
A.  40 nEq/lit
B.   50 nEq/lit
С  30 nEq/lit
D. 60 nEq/lit         (p. 347)
4.
The normal pH of arterial blood is:
A.  7.35
B.   7.4
С  7.45
D. 7.5
{p. 347)
5.
The normal pH of interstitial fluid is:
A.  7.35
B.   7.4
С  7.45
D. 7.5
(p. 347)
6.
The maximum upper limit of blood pH is:
A. 7.5
B.   7.8
С  8
D. 8.5
(p. 347)
7.  pH of intracellular fluid is:
A. 7.3-7.4
B.   7-8
С  6.5-7.4
D. 6.0-7.4
(p. 347)
8.
The systems that regulate H+ concentration in body
fluid include:
A. Buffers in blood
B.   Kidneys
C.  Lungs
D. All of the above (p. 347)
9.
The slowest acting body system to maintain pH is:
A.
Buffers of body fluids
B.
Lungs
C.
Kidneys
D.
All of the above
(p. 348)

10.
Henderson-Hasselbalch equation is:
A.
pH = 6+ log НСО3/О.ОЗ x PCO2
B.
pH = 6.1+ log HCO3/0.03 x PCO2
С pH = 6.1+ log HCO3/O.O2 x PCO2
D. None of the above
(p. 349)
11.
Rise in PCO2 is called:
A.
Metabolic acidosis
B.
Metabolic alkalosis
С  Respiratory acidosis
D. Respiratory alkalosis
(p. 349)
12.
PK of bicarbonate buffer system is:
A. 5.5
B.   6.1
С  6.5
D. 6.8
(p. 349)
13.
PK of phosphate buffer system is:
A. 6.1
B.  6.6
С  6.8
D. 7
(p. 350)
14.
Phosphate buffer system is important in all except:
A.
Tubular fluids of kidneys
B.
Intracellular fluids
C.
Extracellular fluids
D.
None of the above
(p- 350)
15.
The buffering agents in body include all except:
A.
Bicarbonate
B.
Phosphate
C.
Proteins
D.
Fats
(p. 350)
16.
What will be the blood pH if alveolar ventilation is
reduced to one fourth of normal:
A. 7
B.  7.2
С  7.4
D. 7.8
(p. 351)
17.
Doubling the ventilation rate will change blood pH
to:
A. 7.63
B.   7.84
С  7.1
D. 6.9
(p. 351)
18.
Respiratory compensation for alteration of pH is:
A.
100 %
B.
75-90 %
С 50-75 %
D. 25-50 %
(p- 352)
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2 В       ЗА
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19.
The function of kidney in maintenance of blood pH
is:
A.
Conservation of bicarbonate
B.
Secretion of H+
C.
Production of bicarbonate
D.
All of the above
(p. 353)
20.
Daily production of nonvolatile acids in the body is:
A.
100 mEq
B.
80 mEq
С  40 mEq
(p. 352)
21.
The total hydrogen ion secreted into tubular fluid
each day is:
A.  5500 mEq
B.   5000 mEq
С  4400 mEq
D. 4000 mEq         (p. 354)
22.
Daily bicarbonate loss in urine is:
A.  30 mEq
B.   10 mEq
С  5 mEq
D. 1 mEq
(p. 353)
23.
The buffer system in urine to excrete H+ ions is all
except:
A.  Phosphate
B.   Ammonia
C.
Bicarbonate
D. Urate
(p. 355)
24.
Metabolism of glutamine in proximal tubular cell
produces:
A.
2 molecules of bicarbonate
B.
2 molecules of ammonium ions
C.
Both of the above
D.
None of the above
(p. 356)
25.
In chronic acidosis, the major mechanism of urinary
H+ excretion is:
A.
Ammonium ions
B.
Phosphate ions
С   Urate ions
D. None of the above
(p. 357)
26.
The formula for net acid excretion in urine is:
A.
NH^   excretion   +   titrable   acid   -   bicarbonate
excretion
B.
Phosphate excretion + titrable acid - bicarbonate
excretion
С NH+4 + Phosphate + titrable acid
D. None of the above
(p. 357)

27.
What happens to renal H+ ion secretion in alkalosis:
A.
Increased
B.
Reduced
С  Unchanged
(p. 358)
28.
If the ratio of HCO^ to CO2 in blood decreases, then
there is:
A.
Acidosis
B.
Alkalosis
С  No change
(p- 358)
B.  40 mmHg D. 38 mmHg
29. The normal PCO2 is:
(p. 359)
A. 35 mmHg С 44 mmHg
30.
What happens to PCO2 in metabolic acidosis:
A.
Increased
B,
Decreased
С  Unchanged
31.
What   happens   to   plasma   HCO^   in   metabolic
alkalosis:
A. Increased
B.  Decreased
С  Unchanged
(p. 359)
32.
In metabolic alkalosis, the compensation is by:
A.
Decreased ventilation
B.
Increased renal bicarbonate excretion
С  Both of the above
D. None of the above
(p. 359)
33.
Which of the following causes metabolic acidosis:
A.
Renal tubular acidosis
B.
Severe diarrhoea
C.
Chronic renal failure
D.
All of the above
(p. 360)
34.
Which of the following causes alkalosis:
A.
Vomiting
B.
Diuretics
С  GI aspiration
D. All of the above
(p- 360)
35.
Acute acidosis can be reversed by:
A.
IV bicarbonate
B.
IV sodium lactate
C.
IV sodium gluconate
D.
All of the above
(p. 361)

19 D    20 В     21 С      22 D      23 С   24 С  25 A   26 A

27 В    28 A     29 В      30 В      31 A 35  D

32 С

33 D

34 D
